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5.1 REPRRSENTING PATTRRNS

Name: Blo-ck.
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2. Complete the table and explain your rational.
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Definition:

Rate of change: The rate of change for a set of numbers is the measure by which each number in

the sequence is changing.
* Given 5,10,15,20... The rate of change is addition by 5 each time.

* Given 9,7,5,3.. The rate of change is subtraction by 2 each time.

TABLE OF VALUES
Determine the pattern, complete the table of values and state the rate of change.
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How Can We Represent Patterns?

¢ shedemant o} equadcty
w\.'\'h A__C( Cx €
vaviables.

Example:

bso'bc.—\-a

Example #1: As a fundraiser, the Recycling Club is going to sell t-shirts for $15 each.

Fill in the table of values for the relationship. How are n and D related?

Number of t-shirts
sold (n)

Total amount

Write an equation that calculates the total amount raised, D,
in dollars, when n t-shirts are sold.

p= /57T

@ o Q(nc\‘\-D” w mul‘\-\?\LQA

=720 tshirts sold by $15
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ﬁheck your equation using substitution:

15

03- OO wrote = M +I5S as ~r Qq'mh‘m
(WKONG) D= (4) +V5= 319 X evror

(CcRECT) = 167 =15 (D30 V|

When two variables are related, it is called a relation.
Relations can be represented in 4 different ways:

L weadS Yo deXrilbe

wrote. an equahon

e patievn

(D= 19m)
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Describe a written pattern in a table of values, a graph and an equation.

Study the Pattern : 24. Fill out the table : 25. Plot as many points | Answer the questions.
\A)C(ds : of values. © aswill fit, é‘)r&%\ :
Jason cuts lawns as | Letx Hours &= Income = s ' | 26. Rate of change: How is
i i : ' ! i) the y changing?
hie mininer Jobs. He : 20 | He earns $20/h
charges a travelling A I I I I l
fee of $10 plus T T T :
$20/hour for his ._,]“ | i 27. Write an equation to
time. ’1‘“ ¢ represent this pattern.
=
| I=20h+10
¥' : 5T ™% | Y=20x+10
CV\'CC i oo vou saame That Yo soidlon b conacls o e Ny
‘*Y\ _0 Pﬁubslllme values from the table into the equation and make sure they work. For example -_6)+10=130. Correct.
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Example #2: Another club member suggests a different price for the t-shirts.
Here is the table of values.

T — : How is this table of values different from the first one?
o seJI:(n;s l raisoed. Er;mdc:::;rs '# Oe T-sShv V*S (')’I ) \nC f‘eaxs
( .
: \0\_1 ] each N \Q_

12.5034;,2.50

100 ", 5 ‘:- (o = ’2- 50
Why did we start our table of values at 0?

@

0 ﬁ? 0
42 / 2 - \ +39 Explain how you can use the table to find out how much each
} Y .1S t-shirt is being sold for.
J- -
r& 84 sol canrm Adiouide S +o'\~.o\Q O\ij\oon'\‘
~ \+3<” (Q.XSCC‘ (b} D\OQ\ W M +H-hirds
) n
>6 4 wld ex. 25 < & =
E

10 125 N
O e G cleaar \nCrea¥l
4 f°_‘sé\é o (or decreaR)) in Ywuo pathorn .

’\;ﬁ'&"ﬁbf‘lﬁ ’x = rate af dr\ur\ox( 'S douiouS

Write a formula. D= _1&.97
D= ¥2.50 - n_
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umgﬂ(.f. » For the questions below you need to think about how n and D

related.
1. Write an equation to go with each table of values.
a) b) c)
n D n D n D oA IS
0 21.} 0 \45 0 2_.(-‘ 0 I\L 5 0 0 u\\l\g “\Q_\im
1 5 2 & 5 & 5~z 309
2 10 A AP) A 60 ¥ 120 1ehween
3 15 6 15 1549 00 &0 &and WO
[ 4 20 8 20 20 120
[ 5 | 35 [ 10 25 [ 25 150 %l
D= D= 25N p=_lom
Check each of your equations above using substitution: ( +Y¢[ 01.4’ LQC(S" 2 od /11‘85)
. 5. -a25n = n
a D=2oM by T° o D= i
:5(&): IOv :.?-5((9)=’S\‘; =(o/5>'50\\//
] - 250025 =L (15)=90
=5 (5)= a5
2. The éistance D (in km)}a car can travel os given by the formula D = 8.2L. *&’\\\g{q
What is the meaning of the number 8.2? S \
Ares e =
D= ¥ ALL——LTmes etTve O

S22
KR iotne roteol D=3al) = | |5.2<9%2

éiszco\vv%o. changg - eans oo %.2(2) & |14
bl can alel s2vwnm/L - ca(5y 2 ad.l
3 The]temperature of a solution T (in °C)|after t minutes\is given by T = 2.3t. What is the
meaning of the number 2.3? (onia
e VemofoC)
V=25t ™ —
( ™mi n»

O
T-anifas N |2BY
'Tem—p N %2.5'\3\\’\1\1 (OA{GP S25(D): g 4-(0}25

°C C/\/\(Lﬂogd meand :2,5(3)‘b‘| 6 \(0.0\4?*2'5
ok e TTenp.
increaws 2.5°C/min
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Example #3: The Recycling Club has found a manufacturer for the t-shirts they w Il.
The manufacturer charges $50 to make the silkscreen and then $10 for printing’€ach t-shirt.

T\ v e
Fill in the table of values and write and equation for C. 50 Cer

Number of t- Total cost, in [/ 005—\— sek UPCQQ [\ QCACV\ +%f-\ -
| e | @ | 550 (510m

Y\O\\’RI\‘Q —

o ] sob- "

)
LO Y — — :
N | c(;heck your equation using substitution: ﬁ\m —\IO\VG
2 10 :b- C =50 r1r\O
3 %O‘Z-HO :50*\0(0)‘50‘/
- Q-r\o . 50 ¥10 3= 3O v
OI()\ ;§Q1IQ(2)=lOO\/
* |00 ¢4'©

Why aren’t there any negative values in our table of values?

ol e deaa s woTHh
(o ;%c’s\csﬁtnf\— have @’\s\mr\sw ond coy .

Example #5: Here is a partial table of

values for WW .\'umb-.er o:; t-shirts T:l)tal c‘ost. in
Complete thetable of values. [ "'“"8 () J&?_ 5
(DF ind e putern : % H-15
. — R WY 4
@usz_ 'ga\'\uv\ 3o, deberming 3 90 ¥~
N 4 105¢ 7'
iniRaQ cobt : /aoeh\s
Write the equation for this relationship : _
C= 4SS+ \& s.e-\--u])gtﬂ_sq‘i $
= — oach Yonirt costs = 319

Check your equation using substitution:

C= 4D+ oM
- 45H+ \6(27’- A5V
= q5 15 (4H)= 105 v
- o rIs(®= 130
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inihraQ Fee

(PRacTicE - e
1. A car rental compan chargesplus $0.10 for (3:::?:;) Totalcost (@
each kilometer given. g OO = = S
Fill in the table of values showing the relationship between the x50 tl'o(y) :2 2 Par= 35
total cost for the day (C) and the distance driven (d), and then 150 50 3 5
write the equation for C. [., d«‘S‘\'&WCx., | :60 I 55 <
SO N SO .\C)/\:m
- 85+ 0.10d (rogy 22O =5
chec. C=3o+01000) g5 -
=35+ 0.10(2&0) =55 v
0(2 c‘c4 ."
3(\ 2. Here is a partial table of values for a different car rental Distance Total cost (C) / (Cs
’\(‘\ <§< company. driven (d) K
c° Find the daily cost and the cost per kilometer, and then write the ] & -316
equation for the total cost. 50 IO\ -3w0
100 $70 ~
C= 60 + O.:{Od 150 $80 £ =310
I 200 | 30V |30
c= %50 + 0. ’o'lC)(__O\5 3—’%0 v each C\O«a e Astenca B0
—

+ & oy 310
§ g ond theTest ¥y

3. For afinal car rental company the equation to calculate the total cost is C = 0.12d [+ 35.

a) What is the daily cost? Explain how you know. - ‘ -\-
$25  lpecamse Mard S NG Variaoe, = This aflat fe

O + 0

b) What is the cost per kilometer? Explain how you know.

§O.12 /Jkm Yeecaumst O VA w"f) mul hplaad \aul"d B

4. The temperature T of a solution after  minutes is given by T:3+!OA51.!
a) What is the meaning of the number 13? - * 'é, C)

1% 15 Yt s‘vow*w‘nb Yerp. ofdhe solohion

b) What is the meaning of the number 0.5? . - . o
05 waans Yo solohisn TS increosing Or? ) rcw\emh
\
Required Extra Practice Extension
l l Homework» 12345789 o 1213 1 14,15
10, 11
Assignment #5.1 pg 162 - 165
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